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swastdsanudfidiu Thermoplastic

1yf Thermoplastic (Bwmfioy uas 8v1)
1) Ariag w9 1.00 m.”

fnd Thermaplastic (W4 - yv)

- s

- AL - Y

A8 Thermoptastic (nEpa - 1)

2) Agani®
- ATyudy

« Ay - fw

AR

3) 61 Primer (N3aeR) 0.20 AR, Wil 1 asaL
d17an Primer (nmrsesiu)

Aruds

A - e

. w &
ANUAUN Primer (hMTaau) = 70 +

4 ddnunas éa 1.00 m.” (Bl 600 m. /5w
4.1} AmoAidu (Aspgnvaliam 7 9 @ 180 5w

i
» AURBUSTIAT
S-SRV S
= AMNBUTOLTTE

- A

4.2) AU
- AN (PN MANAN S AT IR INAIUADATHY)

- AMTwaEs

4.3) Ansdoantzimsindunoygmiatiou 5 9 @ 180 Fud)

4.3.1)wdausAiiadanistnz)

- swnfuliowds

it L} o
Lisawmaunszmizintn
SRS IERARY

= 42,000 W/

n

= 710 km. =
= 100 vinwdy

T

= 6.00 ka. ¢» 43.82 UM

Anld =

= 56,000 vW/aY

= 710 km. =

= 100 WAy =
T =

= 0.90 kg » 57.82 um =

finld =

= 710 km, =

= 100 Viwdu =

162 + 010 vm/nn X02 =

ﬁﬂ.l‘:'I' =
= TIARuuASWILIUEDY X 5U
= 2,200,000/180x7} =
=0 AR 2849 uw =
= 1 iviue 318 uw =
T =
= 308n3 U@ 2849 uwm =
ki =
= A wriusal X 50
= 195,500 / {180 x 5) =

i1

15 8n3/ Jug 2849 uwm

1}

kR

42,00 uwrke.
1.72 uvw/ke.
0.10 uwke,

43.82 vw/ks.

262.92 yw/ks.

' 242.00|U1Wkg‘

56.00 UW/kg.
1.72 vinvkg.
0.10 Uwks.

57.82 ywkg.

23.13 uw/m.”

23.00]uwvm”

70.00 wKg.
1.72 vKe.
0.10 vn/Ke.

14,36 ywm.

14.00|uwym.”

1,746.03 vnw/iu
1,139.60 vy

318.00 vy
3,203.63 VW

920 v/
854,70 v WU
1,774.70 v

217.22 v/
427.35 vw/iu
644.57 yv/iu




. - - . » 2w
4,3.2) Adausmishauanniemizi) = TIAEUNABIYSiTY 12,000 m /A

= 63,700/12,000 = 3.64 vim.
4.3.3) Awsanszmsd
1 Amsean 2 Ay (nsdAIRouniAYszInm 200 A1.2/5) = (300x2)/200 s 3.00 Uw/m.
2 Amsaau 2 Au (nsdifuaatiaAvisnn 150 sin/5) = {300x2)/150 = 4.00 viwm.
4.4} AWuIREULIT (UssliuAnsan 8 AwSwed At
dwmuAuviauauiu) = 2% 500 = 1,000 v/
FuAMATY = 2% 500 = 1,000 uw/iu
AuuIlY = 4300 = 1,200 vy
] = 3,200 v/

sanfuluiunmdue T asAuian A THouIID = (8.1)044.2)+(4.3.1)+4.9) 882290 vm.

NSUAIRBUATA 10RD ((8822.9/600 n1.31)+{(4.3.2)+(0.3.3)=6.60 1WAz = 2136 vwm.
Al = 21.00[vw/m.”

nadiuoaiian WAp (8822.9/600 a1.5.)+(4.3.2)+(2.3,3)=7.64 viwas L) o 2236 viwm.”
Anty = 2200{uw/m.

aadibuidwsmdue s TuazATEaNTIAT (4.1)44(0.2)4(8.0)/600 = 13.60 vm.”

Ami = 13.00|vwvm?




